(2x = 3y) (3x +ay) & AZNAANA xy o] Al57F -7 A i, y* o] Al

19

(F4]) = 6x2 — 9xy + 2axy — 3ay?
= 6x% + (=9 + 2a)xy — 3ay?

xy & A7E -70|BR

94 2a=-7 La=1

LYY AFE 83a=-3x1=-3
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® x+1,3x+1

@ x+6,2x

@x+3,2x

® x+6,2x+3

@ x+3,2x+1

2x? + 6x = 2x(x + 3)




(2x=5)(x=3) = (3x + 2)(x - 3) B AFE3loIH?

@ (x+3)(x+7) @ —(x+3)(x+7)
@)-(x-3)(x+7) @ —(x-3)(x-7)




(x2 —4)(x? = 1) —40 = x* - 5x2 - 36
=(x2-9)(x2+4)

= (x+3)(x=-3)(x2 +4)




OZFA] x% — 3xy + 2y +4x -5y + 3
b)(x+cy—d) 7t FUTh & F &

D a+b=3 @ b+c=2 @ c+d=1
@a—!—c:—l ® b+d=-3

~&B

x>+ (4-3y)x+2y2 -5y +3
=3+ 4 -3y)x+ (2y-3)(-1)
=x-2y+3)(x-y+1)
ca=1,b=1¢c=-2,d=-3




282 — 112
25 x17-17x12

O 12 @ 9 ® 6 @)3

(28 +11)(28—11)  39x17
(25-12)x 17  13x17




7. a+24x+b = (3x+c)? Do, S a, b, ¢ O] & AR FHHA?

@ a=9,b=16, c=—4 @ a=9,b=8, c=4
®a=9,b=16, c=2 @a:9,b=16,C=4

® a=3,b=-8,c=4

~&B

(3x 4+ ¢)? = 9x% + 6cx + 2

a=9
6c=24, c=14
b=c% b=16

a=9 b=16, c=4




2 2o AB E A 522
A, B, C oA A= Aot

She 2 93 % 90, 0, 7} Al A
Atk ¥ 0y 9 HHAEol a, ¥ Oy 9
w1 B0l b o W), AT H0] HolE a St b & AHgstol ek 2
NOANG B
O
© 7 (342 + 3b* + 8ab) @ 8rab
@271{1!) @ nab
®n (2a2 +2b% + 8ab)

0; 9 HAE2a, 0, O FIAE2po|B2 Z Y] §HA]
a+ b oJth

=

= O
wreta] A BBl Yol = (a+b)%r—a’n—b*m = 2abn ©|T.







10. (a-b+3)*=(a+b+3)* S 7rs] 3F AL?

@ -4b(a-3)

@ —4a(b+3) ® -8b(a+3)
@ —4a(b-3) @—4b (a+3)

~&B

(a-b+3)?-(a+b+3)>
={(a-b+3)+(a+b+3)}
{(a-b+3)-(a+b+3)}
= (=2b) (2a + 6)

= —4b(a+ 3)




11. a=V3+2< 1, 3(a+2)?2-2a+2) -89 72?

@D 41-22+3 @ 22+41V3 B 22-413
@ 223 -41 @41+22\/§

B

a+2=1 2 A&
3a+2)?2-2(a+2)-8

=32 -2t-8

= (t-2)(3t+4)
=(a+2-2){3(a+2)+4} =a(3a+10)
= (V3+2)(3V3+16)

=41+22V3




12. o8 % J5Eaet Aol £

oF O [e)

@ 4x% +12x+9 = (2x +3)?
©) 1)c2+)c+1—<1x+1>2
4 S \2

)

2
@ 3x* +6x+3=3(x+1)?

® x*+10x+25 = (x +5)>




13, xof B oA ¥ + 1lx + k7} (x +a) (x+ b) 2 A5 B2 o,
A kO] S 5t

® 1 @ 18 ® 22 @ 27 @30

a+b=11°] H=a,b3 F ab7} 7P 2 = 5% 6 = 30|t}




14. o34 a®x+1

V47 E 5 Qe AL BE NE ALY

H7]
@ x+1 © a+1
© x*+1 ® a-1
® 6,0 ONONE)
@ ©,6e ® 6,0,




@ a2+ab—|—b2) (aQ—ab—i—bQ)

a +ab+b) az—ab—i—b)

(
@ (a? (
® (a*+ab+1b) (a*>—ab-b
@ (
© (

a+ab+b2) (a—ab+b2)

(EH) = (@ +1%)° - (ab)”

= (a* +b* + ab) (a*® + b* — ab)




